Exam. Code : 107202
Subject Code : 1651

Bachelor of Computer Application (BCA)
2"4 Semester (Batch 2022-25)

NUMERICAL METHODS AND STATISTICAL
" TECHNIQUES

Paper—III

Time Allowed—3 Hours] Maximum Marks—75

Note :— Attempt FIVE questior{k@m all, selecting at least
ONE question from section. The fifth question
may be attcmpted\ m any section. All questions
carry equal m .

TION—A

1. (a) Find real root of equation x* — x — 1 = 0 using

bisection method correct to three decimal places.

{b) Round off the number 756250 to four significant
digits. Find-absolute error, relative error,
percentage error.

: I
2. (a) Find iterative formula for IN- Hence evaluate

L .
J17 Uusing Newton Raphson method correct to

three decimal places.

(b) Find a real root of equation x> - 3x — 5 =0 by
Regula Falsi method correct to three decimal
places. "
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3. (a) Use Newton backward formu

SECTION—B |
la. Fit a cubic

polynomial then find f(0.7) :

Xx[o1]o02]03])|04 0.5 ﬂ.6_
Y | 2.68 | 3.04 | 3.38 | 3.68 3.96 | 4.21

(b) Using Lagrange interpolation formula, evaluate
£(10) : ,

x[25] 30 | 40 | 50
v |52 167.3|84.1|944 ]

6
dx
!1+x

. take n = 6.

3
4, (a) Use_Simpson = rule [ = 2

8

]

(b) Use trapezoidal rule, to compute I
4]

take

1+ x

n = 6.
SECTION—C

5. (a) Find coefficient of variation for the following

data : -

X|10]15|20]25|30 |35
Fi{l10| 8| 9 {10|15]18

(b) Find Mean for the following data :

X 110203040 |50|60 |70
F{3|5|8|14|10|6 | 4
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6.

(a) Find Mean Deviation from Mcan for the following 8. (a) Fit the curve of best fit of type Y = a + bX + ¢X?
data : ' to the following data :
XJ10]62]64 66 068]70 X{4]5 718
Flio|14|18|24|20](14 Y 8|12]18]24 |32
(b) Find Standard Deviation for the following data (b) Fit the curve of best fit of type Y = aX® to the
following data : . '
X|[0~10]10-20|20-30 | 30—-40 '
F 5 8 10 15 X1 2 3 4 5 6 7 8
D Y | 15312051274 |36.6(49.1|656|87.8|117.6
S
X | 40-50 }$0-60 | 60=70 [ 70-80
F| 2000] 25 10 7
$
SECTION—D
7. (a) Fit the curve of best fit of type Y = ae®* to the
following data : B
Xxl1{s]7]9]12
Y |10 1512|1521 _
(b) Fir the curve of best fit of type Y = abX to the
following data :
X/ 11213 4 5 6 | 7|8
Y |[10]12|18}25|36147]166[9.1
[ . ) -
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